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1.

(7 marks)

The discrete random variable X can take the values 1, 2, 3, 4, 5. The probability distribution for

X is shown graphically below.
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Determine:

@ the value of k.

(b)  P(X >3

(©) P(X=3|X=3)

(d)  the expected value.
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2.

(7 marks)
@ A discrete random variable X, where X =0, 1, 2, 3, 4, 5, 6, 7 has a uniform distribution.

(i) Determine the expected value and variance of X. [3]

(i) A discrete random variable is defined by Y =5-2X . Calculate the expected
value and variance of Y. [2]

(b) A discrete uniform distribution Z, has outcomes 0 to n and have an expected value,
E(X)=5.5. Calculate the value of n. [2]
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(6 marks)
Tokens numbered 1 to 20 are placed in a bag, and one is selected at random:

e Let X =1 if aprime number is selected, and X =0 otherwise.
e Let Y =1 if a number greater than 8 is selected, and Y =0 otherwise.

@ Determine the probability of success of X and Y respectively.

(b) Calculate the mean and variance of X.

(©) Calculate the mean and variance of Y.

(d) Compare the standard deviation of X and Y and justify why this occurred?
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(9 marks)

It is known the probability of a bread roll pen being below the satisfactory weight for sale in a
large batch is 0.12. At the bakery, bread rolls are sold in packets of 6.

@ Describe the probability distribution function. [2]

(b) Determine E(X) and st.dev (X) [2]

(© Determine the probability that

(1) A randomly selected packet has greater than 2 bread rolls that are below the
satisfactory weight for sale. [1]

(i) that there were no more than 1 bread roll that is below the satisfactory weight for
sale in each packet if 6 packets were randomly selected. [2]

(i) inalarge order of 20 packets of bread rolls that no more than 3 of these have
greater than 2 bread rolls that are below the satisfactory weight for sale. [2]
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(10 marks)

A slot machine is programmed to operate at random, making various payouts after patrons pay
$2 and press a start button. The random variable X is the amount of the payout, in dollars, in
one play of the machine. Each payout can be assumed to be independent of other payouts.

The probability, P, that the machine makes a certain payout, x, is shown in the table below.

Payout ($) x 0 1 2 5 10 20 50 100
Probability P(X =x) | 025 | 045 | 0.2125 | 0.0625 | 0.0125 | 0.005 | 0.005 | 0.0025
@) Determine the probability that
(i) in one play of the machine, a payout of more than $1 is made. [1]
(i) inten plays of the machine, it makes a payout of $5 no more than once. [2]
(iii)  in five plays of the machine, the second payout of $1 occurs on the fifth play. [3]
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(b) Calculate the mean and standard deviation of X. [2]

(©) In the long run, what percentage of the patron's money is returned to them? [2]
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(9 marks)

In the mailroom of a large company, it is known that 20% of incoming letters contain an
invoice. Let X be the number of randomly chosen letters that are opened until an invoice is
discovered.

@ Complete the table below for the values of x = 1, 2, 3, and 4. [2]
X 1 2 3 4
P(X =x)
(b) Determine the rule for P(X =x) for any integer value greater than 0. [2]

(©) Calculate

)  P(X=10) [1]
(i) P(B<X<6) [2]
(iii)  the smallest value of k, so that P(X =k) < 0.001. [2]
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